Number bonds to 20

L S T=

13+ =20 +8=20
12+ =20 +b5 =20
15+ =20 +3:=20
11+ =20 +17 =20
14+ =20 +6=20
10+ =20 +12 =20
1+ =20 +14 = 20
4+ =20 +2=20
b+ =20 +7 =20
6+ =20 +2=20




A SIS

One _more or less than 100

One more than 56 is ____

One more than 76 is ____

One less than 72 is ____

One less than 79 is ____

One more than 29 is

One more than 63 is ____

One less than 80 is

One more than 99 is

One more than 38 is

One less than 60 is

One less than 28 is

One more than 49 is ____

One more than 91 is ____

One less than 55 is ____

One less than 18 is

One more than 67 is ____

One more than 82 is ____

One less than 94 is

One less than 73 is ____

One more than 50 is ____




Adding

A SIS

e digit number to a two digit humber

12+ 6= 72 +8=
15+5= 53 +5 =
19+ 4= 92 +7 =
13+7 = 64 +4 =
24 +9 = 41+ 9 =
30+8= 36 +8=
34+6= 56 +9 =
13+9= 21+ 8 =
37+5= b1+ 4=
33+6 = 91+9=




A SIS

Subtract a one digit number from a two digit number

49 - 4 = 89 -7 =
30-5-= 31-4-=
58 - 6 = 97 - 4 =
15 - 4 = 60-0 =
49 -9 = 35-7=
36-2= 67 - 8 =
54 - 1 = 45 -9 =
79-2 = 88 - 1=
62 -4 = 34-5-=
16 - 5 = 99 -9 =




